

A Subclass of Univalent Functions Defined by a Generalized Differential Operator

T. G. Shaba and B. Sambo

Department of Mathematics, University of Ilorin, Ilorin, Nigeria.
Department of Mathematics, Gombe State University, Gombe, Nigeria.
e-mail: shaba_timilehin@yahoo.com
e-mail: bitrussambo3@gmail.com

Received 1 February 2020; Accepted 3 June 2020
(Communicated by Basem Frasin)

Abstract

In this current paper, we establish a new class of univalent function $\mathcal{GR}_{q,\zeta}^{\mu_1,\mu_2}(h, t, l, \beta)$ defined by comprehensive differential operator. We investigate the adequate condition for a function $f(z)$ to be in this class.

Keywords: Starlike function, univalent function, Ruscheweyh derivative, convex function, bazilevic function.

2010 Mathematical Subject Classification: 30C45.

1 Introduction

Let \mathcal{A} denote the class of functions of the form

$$f(z) = z + \sum_{\tau=2}^{\infty} a_{\tau} z^{\tau} = z + a_2 z^2 + \dots \quad (1)$$

which are holomorphic in the open unit disk

$$\mathcal{U} = \{z \in \mathbb{C} : |z| < 1\}.$$

Let $\mathcal{W}(\mathcal{U})$ be the space of analytic functions in \mathcal{U} . For $e \in \mathbb{C}$ and $q \in \mathcal{N}$ we indicate by

$$\mathcal{W}[e, q] := \{f \in \mathcal{W}(\mathcal{U}) : f(z) = e + e_q z^q + e_{q+1} z^{q+1} + \dots\} \quad (2)$$

and

$$\mathcal{A}_q = \{f \in \mathcal{W}(\mathcal{U}) : f(z) = z + e_{q+1}z^{q+1} + e_{q+2}z^{q+2} + \dots\} \quad (3)$$

with $\mathcal{A}_1 = \mathcal{A}$ and $z \in \mathcal{U}$.

Let $\mathcal{Q} \subset \mathcal{A}$ indicate the class of univalent functions in \mathcal{U} and by $S^*(\zeta) \subset \mathcal{Q}$ indicate the class of starlike functions of order ζ , $0 \leq \zeta < 1$ which gratify the condition

$$\Re \left(\frac{zf'(z)}{f(z)} \right) > \zeta. \quad (4)$$

Also, a function $f(z)$ essential to $\mathcal{K}(\zeta) \subset \mathcal{Q}$ is evident to be convex functions of order ζ , $0 \leq \zeta < 1$ in \mathcal{U} , supposing

$$\Re \left(1 + \frac{zf''(z)}{f'(z)} \right) > \zeta, \quad (5)$$

and signify $\mathcal{R}(\zeta) \subset \mathcal{Q}$ as the class of bounded turning functions which gratify the condition

$$\Re\{f'(z)\} > \zeta,$$

where $z \in \mathcal{U}$.

Definition 1.1 [10] For $f \in \mathcal{A}$, $h, q, l \in \mathcal{N}_0 = \{0, 1, 2, 3, \dots\}$, $\mu_1 \geq \mu_2 \geq 0$, $t \geq 0$ and $t + l > 0$, the operator $D_{\mu_1, \mu_2, t, l}^{q, h}$ is defined by $D_{\mu_1, \mu_2, t, l}^{q, h} : \mathcal{A} \rightarrow \mathcal{A}$

$$D_{\mu_1, \mu_2, t, l}^{q, h} f(z) = \mathcal{M}_{\mu_1, \mu_2, t, l}^h(z) * \mathcal{R}^q f(z) \quad (z \in \mathcal{U}). \quad (6)$$

We define the holomorphic function

$$\mathcal{M}_{\mu_1, \mu_2, t, l}^h(z) = z + \sum_{\tau=2}^{\infty} \left[\frac{t(1 + (\mu_1 + \mu_2)(\tau - 1)) + l}{t(1 + \mu_2(\tau - 1)) + l} \right]^h z^\tau,$$

where $h, l \in \mathcal{N}_0 = \{0, 1, 2, 3, \dots\}$, $\mu_1 \geq \mu_2 \geq 0$, $t \geq 0$ and $t + l > 0$. $\mathcal{R}^q f(z)$ denote Ruscheweyh derivative[11] and given by

$$\mathcal{R}^q f(z) = z + \sum_{\tau=2}^{\infty} \frac{(q + \tau - 1)!}{q!(\tau - 1)!} a_\tau z^\tau,$$

where $q \in \mathcal{N}_0$ and $z \in \mathcal{U}$.

If $f(z) \in \mathcal{A}$, $f(z) = z + \sum_{\tau=2}^{\infty} a_\tau z^\tau$, then we have

$$D_{\mu_1, \mu_2, t, l}^{q, h} f(z) = z + \sum_{\tau=2}^{\infty} \left[\frac{t(1 + (\mu_1 + \mu_2)(\tau - 1)) + l}{t(1 + \mu_2(\tau - 1)) + l} \right]^h \frac{(q + j - 1)!}{q!(j - 1)!} a_\tau z^\tau \quad (7)$$

where $h, q, l \in \mathcal{N}_0 = \{0, 1, 2, 3, \dots\}$, $\mu_1 \geq \mu_2 \geq 0$, $t \geq 0$ and $t + l > 0$.

Remark 1.2 . It follows from the (7) that

$$(t(1 + \mu_2(\tau - 1)) + l)D_{\mu_1, \mu_2, t, l}^{q, h+1}f(z) = (t(1 + \mu_2(\tau - 1) - \mu_1) + l)D_{\mu_1, \mu_2, t, l}^{q, h}f(z) + t\mu_1 z(D_{\mu_1, \mu_2, t, l}^{q, h}f(z))'$$

for $z \in \mathbb{U}$.

Remark 1.3 .

- $D_{\mu_1, \mu_2, t, l}^{q, 0}f(z) = D^q f(z)$ which exactly is the Ruscheweyh derivative [11],
- $D_{1, 0, 1, 0}^{0, h}f(z) = D^h f(z)$ which exactly is the Sălăgean derivative [12],
- $D_{0, \mu_2, 1, 0}^{0, h}f(z) = D_{\mu_2}^h f(z)$ which exactly is the Al-Oboudi operator [1],
- $D_{\mu_1, 0, 1, 0}^{q, h}f(z) = D_{\mu_1}^{q, h} f(z)$ defined by Al-Shaqsi and Darus [2],
- $D_{1, 0, 1, 1}^{q, h}f(z) = D^{q, h} f(z)$ defined by Uralegaddi and Somanatha [15],
- $D_{1, 0, 1, l}^{0, h}f(z) = D_l^h f(z)$ defined by Cho and Srivastava [5],
- $D_{\mu_1, \mu_2, 1, 0}^{q, h}f(z) = D_{\mu_1, \mu_2}^{q, h} f(z)$ defined by Eljamal and Darus [7],
- $D_{\mu_1, \mu_2, 0, l}^{q, h}f(z) = D_{\mu_1, \mu_2, l}^{q, h} f(z)$ defined by El-Yagubi and Darus [6],
- $D_{\mu_1, 0, 1, l}^{0, h}f(z) = D_{\mu_1, l}^h f(z)$ defined by Cătas[4],
- $D_{\mu_1, 0, 1, l}^{0, h}f(z) = D_{\mu_1 l}^h f(z)$ defined by Swamy [14].

Lemma 1.4 [9] Let ϑ be holomorphic in \mathcal{U} with $\vartheta(0) = 1$, if

$$\Re \left(1 + \frac{z\vartheta'(z)}{\vartheta(z)} \right) > \frac{3\zeta - 1}{2\zeta},$$

then $\Re(\vartheta(z)) > \zeta$ in \mathcal{U} , $z \in \mathcal{U}$ and $\frac{1}{2} \leq \zeta < 1$.

2 Main Results

Definition 2.1 A function $f \in \mathcal{A}$, $h, q, l \in \mathcal{N}_0$, $\mu_1 \geq \mu_2 \geq 0$, $t \geq 0$, $t + l > 0$, $\beta \geq -2$ and $0 \leq \zeta < 1$ is in the class $\mathcal{GR}_{q, \zeta}^{\mu_1, \mu_2}(h, t, l, \beta)$ if

$$\left| \frac{D_{\mu_1, \mu_2, t, l}^{q, h+1}f(z)}{z} \left(\frac{D_{\mu_1, \mu_2, t, l}^{q, h}f(z)}{z} \right)^\beta - 1 \right| < 1 - \zeta. \tag{8}$$

Note that inequality (8) implies that

$$\Re \left(\frac{D_{\mu_1, \mu_2, t, l}^{q, h+1} f(z)}{z} \left(\frac{D_{\mu_1, \mu_2, t, l}^{q, h} f(z)}{z} \right)^\beta \right) > \zeta \quad (0 \leq \zeta < 1),$$

where $z \in \mathcal{U}$.

Remark 2.2 The family $\mathcal{GR}_{q, \zeta}^{\mu_1, \mu_2}(h, t, l, \beta)$ have various classes of holomorphic univalent functions which includes:

- Given $\mu_1 = t = 1$, $\mu_2 = l = q = 0$, $h = 0$ and $\beta = -1$, then

$$\mathcal{GR}_{0, \zeta}^{1, 0}(0, 1, 0, -1) \equiv S^*(\zeta)$$

- Given $\mu_1 = t = 1$, $\mu_2 = l = q = 0$, $h = 1$ and $\beta = -1$, then

$$\mathcal{GR}_{0, \zeta}^{1, 0}(1, 1, 0, -1) \equiv \mathcal{K}(\zeta)$$

- Given $\mu_1 = t = 1$, $\mu_2 = l = q = 0$, $h = 0$ and $\beta = 0$, then

$$\mathcal{GR}_{0, \zeta}^{1, 0}(0, 1, 0, 0) \equiv \mathcal{R}(\zeta)$$

- Given $\mu_1 = t = 1$, $\mu_2 = l = q = 0$, $h = 0$ and $\beta = -2$, then we have the class

$$\mathcal{GR}_{0, \zeta}^{1, 0}(0, 1, 0, -2) \equiv \mathcal{B}(\zeta)$$

investigated by Frasin and Darus [8].

- Given $\mu_1 = t = 1$, $\mu_2 = l = q = 0$ and $h = 0$ then we have the class

$$\mathcal{GR}_{0, \zeta}^{1, 0}(0, 1, 0, \beta) \equiv \mathcal{B}(\beta, \zeta)$$

introduced by Singh [13] and studied by Babalola [3].

Theorem 2.3 Let $f \in \mathcal{A}$ be of the form $f(z) = z + \sum_{\tau=2}^{\infty} a_{\tau} z^{\tau}$, $h, q, l \in \mathcal{N}_0$, $\mu_1 \geq \mu_2 \geq 0$, $t \geq 0$, $t + l > 0$, $\beta \geq -2$ and $\frac{1}{2} \leq \zeta < 1$, if

$$\Re \left(\frac{(t(1 + \mu_2(\tau - 1)) + l) D_{\mu_1, \mu_2, t, l}^{q, h+2} f(z)}{t\mu_1 D_{\mu_1, \mu_2, t, l}^{q, h+1} f(z)} + \frac{\beta(t(1 + \mu_2(\tau - 1)) + l) D_{\mu_1, \mu_2, t, l}^{q, h+1} f(z)}{t\mu_1 D_{\mu_1, \mu_2, t, l}^{q, h} f(z)} - \frac{(1 + \beta)(t(1 + \mu_2(\tau - 1)) + l)}{t\mu_1} + 1 \right) > \frac{3\zeta - 1}{2\zeta}, \quad (9)$$

then $f(z) \in \mathcal{GR}_{q, \zeta}^{\mu_1, \mu_2}(h, t, l, \beta)$.

Proof. If we denote by

$$\vartheta(z) = \frac{D_{\mu_1, \mu_2, t, l}^{q, h+1} f(z)}{z} \left(\frac{D_{\mu_1, \mu_2, t, l}^{q, h} f(z)}{z} \right)^\beta$$

where $\vartheta(z) = 1 + \vartheta_1 z + \vartheta_2 z^2 + \dots$, $\vartheta(z) \in \mathcal{W}[1, 1]$, by simplification

$$\ln(\vartheta(z)) = \ln(D_{\mu_1, \mu_2, t, l}^{q, h+1} f(z)) - \ln(z) + \beta \ln(D_{\mu_1, \mu_2, t, l}^{q, h} f(z)) - \beta \ln(z)$$

and by simple differentiation it implies that

$$\begin{aligned} \frac{\vartheta'(z)}{\vartheta(z)} &= \frac{(D_{\mu_1, \mu_2, t, l}^{q, h+1} f(z))'}{D_{\mu_1, \mu_2, t, l}^{q, h+1} f(z)} + \frac{\beta (D_{\mu_1, \mu_2, t, l}^{q, h} f(z))'}{D_{\mu_1, \mu_2, t, l}^{q, h} f(z)} - \frac{1}{z} - \frac{\beta}{z} \\ \frac{\vartheta'(z)}{\vartheta(z)} &= \frac{(t(1 + \mu_2(\tau - 1)) + l)}{zt\mu_1} \frac{D_{\mu_1, \mu_2, t, l}^{q, h+2} f(z)}{D_{\mu_1, \mu_2, t, l}^{q, h+1} f(z)} + \frac{\beta(t(1 + \mu_2(\tau - 1)) + l)}{zt\mu_1} \frac{D_{\mu_1, \mu_2, t, l}^{q, h+1} f(z)}{D_{\mu_1, \mu_2, t, l}^{q, h} f(z)} \\ &\quad - \frac{\beta(t(1 + \mu_2(\tau - 1) - \mu_1) + l)}{zt\mu_1} - \frac{(t(1 + \mu_2(\tau - 1) - \mu_1) + l)}{zt\mu_1} - \frac{1}{z} - \frac{\beta}{z} \end{aligned}$$

Multiply through by z ,

$$\begin{aligned} \frac{z\vartheta'(z)}{\vartheta(z)} &= \frac{(t(1 + \mu_2(\tau - 1)) + l)}{t\mu_1} \frac{D_{\mu_1, \mu_2, t, l}^{q, h+2} f(z)}{D_{\mu_1, \mu_2, t, l}^{q, h+1} f(z)} + \frac{\beta(t(1 + \mu_2(\tau - 1)) + l)}{t\mu_1} \frac{D_{\mu_1, \mu_2, t, l}^{q, h+1} f(z)}{D_{\mu_1, \mu_2, t, l}^{q, h} f(z)} \\ &\quad - \frac{\beta(t(1 + \mu_2(\tau - 1) - \mu_1) + l)}{t\mu_1} - \frac{(t(1 + \mu_2(\tau - 1) - \mu_1) + l)}{t\mu_1} - 1 - \beta \\ \frac{z\vartheta'(z)}{\vartheta(z)} &= \frac{(t(1 + \mu_2(\tau - 1)) + l)}{t\mu_1} \frac{D_{\mu_1, \mu_2, t, l}^{q, h+2} f(z)}{D_{\mu_1, \mu_2, t, l}^{q, h+1} f(z)} + \frac{\beta(t(1 + \mu_2(\tau - 1)) + l)}{t\mu_1} \frac{D_{\mu_1, \mu_2, t, l}^{q, h+1} f(z)}{D_{\mu_1, \mu_2, t, l}^{q, h} f(z)} \\ &\quad - \frac{(1 + \beta)(t(1 + \mu_2(\tau - 1)) + l)}{t\mu_1} \\ \frac{z\vartheta'(z)}{\vartheta(z)} &= \frac{(t(1 + \mu_2(\tau - 1)) + d)}{t\mu_1} \frac{D_{\mu_1, \mu_2, t, l}^{q, h+2} f(z)}{D_{\mu_1, \mu_2, t, l}^{q, h+1} f(z)} + \frac{\beta(t(1 + \mu_2(\tau - 1)) + l)}{t\mu_1} \frac{D_{\mu_1, \mu_2, t, l}^{q, h+1} f(z)}{D_{\mu_1, \mu_2, t, l}^{q, h} f(z)} \\ &\quad - \frac{(1 + \beta)(t(1 + \mu_2(\tau - 1)) + l)}{t\mu_1} \quad (10) \end{aligned}$$

In the interpretation of the Theorem 2.3, it implies that

$$\Re \left(1 + \frac{z\vartheta'(z)}{\vartheta(z)} \right) > \frac{3\zeta - 1}{2\zeta}$$

Hence, by Lemma 1.4, we have

$$\Re \left(\frac{D_{\mu_1, \mu_2, t, l}^{q, h+1} f(z)}{z} \left(\frac{D_{\mu_1, \mu_2, t, l}^{q, h} f(z)}{z} \right)^\beta \right) > \zeta$$

therefore, $f(z) \in \mathcal{GR}_{q,\zeta}^{\mu_1,\mu_2}(h, t, l, \beta)$ by Definition 2.1.

We have the subsequent corollaries as a result of the above theorem.

Choosing $\mu_1 = t = 1$, $\mu_2 = l = q = 0$, $h = 1$, $\beta = -1$ and $\zeta = \frac{1}{2}$, we have

Corollary 2.4 *Suppose $f(z) \in \mathcal{A}$ also*

$$\Re \left(\frac{z^2 f'''(z) + 3z f''(z) + f'(z)}{z f''(z) + f'(z)} - \frac{z f''(z)}{f'(z)} \right) > \frac{1}{2},$$

then

$$\Re \left(1 + \frac{z f''(z)}{f'(z)} \right) > \frac{1}{2},$$

hence $f(z) \in \mathcal{GR}_{0,\frac{1}{2}}^{1,0}(1, 1, 0, -1) \equiv \mathcal{K}(\frac{1}{2})$, where $z \in \mathcal{U}$.

Choosing $\mu_1 = t = 1$, $\mu_2 = l = q = 0$, $h = 1$, $\beta = 0$ and $\zeta = \frac{1}{2}$, we have

Corollary 2.5 *Suppose $f(z) \in \mathcal{A}$ also*

$$\Re \left(\frac{z^3 f'''(z) + 3z^2 f''(z) + z f'(z)}{z^2 f''(z) + z f'(z)} \right) > \frac{1}{2},$$

then

$$\Re [f'(z) + z f''(z)] > \frac{1}{2},$$

where $z \in \mathcal{U}$.

Choosing $\mu_1 = t = 1$, $\mu_2 = l = q = 0$, $h = 0$, $\beta = -1$ and $\zeta = \frac{1}{2}$, we have

Corollary 2.6 *Suppose $f(z) \in \mathcal{A}$ also*

$$\Re \left(\frac{z f''(z)}{f'(z)} - \frac{z f'(z)}{f(z)} \right) > -\frac{3}{2},$$

hence $f(z) \in \mathcal{GR}_{0,\frac{1}{2}}^{1,0}(0, 1, 0, -1) \equiv S^*(\frac{1}{2})$, where $z \in \mathcal{U}$.

Choosing $\mu_1 = t = 1$, $\mu_2 = l = q = 0$, $h = 0$, $\beta = 0$ and $\zeta = \frac{1}{2}$, we have

Corollary 2.7 *Suppose $f(z) \in \mathcal{A}$ also*

$$\Re \left(1 + \frac{z f''(z)}{f'(z)} \right) > \frac{1}{2},$$

then

$$\Re (f'(z)) > \frac{1}{2},$$

hence $f \in \mathcal{GR}_{0,\frac{1}{2}}^{1,0}(0, 1, 0, 0) \equiv \mathcal{R}(\frac{1}{2})$, where $z \in \mathcal{U}$.

Choosing $\mu_1 = t = 1$, $\mu_2 = d = n = 0$, $h = 0$, $\beta = -\frac{1}{2}$ and $\alpha = \frac{1}{2}$, we have

Corollary 2.8 Suppose $f(z) \in \mathcal{A}$ also

$$\Re \left(2 \left(\frac{zf''(z)}{f'(z)} + 1 \right) - \frac{zf'(z)}{f(z)} \right) > 0$$

then

$$\Re \left(\frac{z^{\frac{1}{2}}f'(z)}{f^{\frac{1}{2}}(z)} \right) > \frac{1}{2},$$

hence $f(z)$ is Bazilevic of order $\frac{1}{2}$, type $\frac{1}{2}$ in \mathcal{U} , where $z \in \mathcal{U}$.

Choosing $\mu_1 = t = 1$, $\mu_2 = d = n = 0$, $h = 0$, $\beta = -\frac{1}{2}$ and $\alpha = \frac{1}{2}$, we have

Corollary 2.9 Suppose $f(z) \in \mathcal{A}$ also

$$\Re \left(\frac{zf'(z)}{f(z)} + 2 \left(\frac{zf''(z)}{f'(z)} + 1 \right) \right) > 1,$$

then

$$\Re \left(\frac{f^{\frac{1}{2}}(z)f'(z)}{z^{\frac{1}{2}}} \right) > \frac{1}{2},$$

hence $f(z)$ is Bazilevic of order $\frac{1}{2}$, type $\frac{3}{2}$ in \mathcal{U} , where $z \in \mathcal{U}$.

3 Open Problem

The open problem is to determine a generic class of univalent functions such has $\mathcal{GR}_{q,\zeta}^{\mu_1,\mu_2}(h,t,l,\beta)$, $h, q, l \in \mathcal{N}_0$, $\mu_1 \geq \mu_2 \geq 0$, $t \geq 0$, $t+l > 0$, $\beta \geq -2$ and $\frac{1}{2} \leq \zeta < 1$ is contained inside and possible to obtain. Compare the new results with the results given by [3].

Acknowledgment. The authors thank the referees for their valuable suggestions which led to the improvement of the paper.

References

- [1] F.M. Al-Oboudi, *On univalent functions defined by a generalized Salagean operator*, Int. J. Math. Math. Sci., 27, 1973, 1429–1436.
- [2] K. Al-Shaqsi and M. Darus , *Differential sandwich theorems with generalized derivative operator*, Int. J. Comput. Math. Sci., 22, 2008, 75–78.

- [3] K.O. Babalola, *Combinations of geometric expressions implying schlichtness*, Analele Universitatii din Oradea, 1, 2014, 91–94.
- [4] A. Catas, *On certain classes of p -valent functions defined by new multiplier transformations*, TC Istanbul Kultur University Publications, Proceedings of the International Symposium on Geometric Function Theory and Applications(GFT'07), 91, 2008, 241–250.
- [5] N.E. Cho and H.M. Srivastava, *Argument estimates of certain analytic functions define by a class of multiplier transformation*, Math. Comput. Modeling , 37, 2003, 39–49.
- [6] E. EL-Yaguby and M. Darus , *Subclasses of analytic functions defined by new generalized derivative operator*, Journal of Quality Management and Analysis(JQMA), 9, 2013, 47–56.
- [7] E. Eljamal and M. Darus , *Subordination results defined by a new differential operator*, Acta Universitatis Apulensis, 27, 2011, 121–126.
- [8] B.A. Frasin and M. Darus, *On certain analytic univalent functions*, Internat. J. Math. Math. Sci., 25, 2001, 305–310.
- [9] B.A. Frasin and J.M. Jahangiri, *A new and comprehensive class of analytic functions*, Analele Universitatii din Oradea, 15, 2008, 61–64.
- [10] A. Oshah and M. Darus, *On certain analytic functions defined by a generalized ruscheweyh operator*, Romai J., 11, 2015, 139–144.
- [11] St. Ruscheweyh, *New criteria for univalent functions*, Proc. Amer. Math. Soc., 49, 1973, 109–115.
- [12] G.S. Salagean, *Subclasses of Univalent functions*, Lecture Notes in Math., Springer Verlag, Berlin, 1013, 1983, 362–372.
- [13] R. Singh, *On bazilevic functions*, Proc. Amer. Math. Soc., 38, 1973, 261–271.
- [14] S.R. Swamy, *Inclusion properties of certain subclasses of analytic functions*, International Mathematical Forum. 7, 2012, 1751–1760.
- [15] B.A. Uraleghaddi and C. Somanatha, *Certain classes of univalent functions*, Current topics in analytic function theory, World. Sci. Publishing, River Edge, N.Y., 1992, 371–374.